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>> a=2; b=[-2,3;-1,4];c=[0,-1;2,1];
d=[-2,1,4;0,1,0];

>> ~(a > b)

> a > c & b > ¢

>> ¢ <= d

>> logical(d)

>> a *x b > ¢

> a *x (b > ¢)

1.1 =32 34 06
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>> C(2,:)

>> C(:,end)

>> C(1:2,2:end)
>> C(6)

>> C(4:end)

>> C€(1:2,2:4)

>> C([1 31,2)

>> Cc([2 2],[3 31)




1>> C([2 2],[3 31)

2ans =
3 -0.4000 -0.4000
4 -0.4000 -0.4000

1 >> r=randi ([0 10] ,100000,1);
nGeaterThan7=sum(r>7)

1 >> a = rand(300,300);
2 > b = a > 5;

3 >> a(b) = sqrt(a(b));
4 >> a(~b) = a(~b)."~2;

1 >> y1=0@(x) 6*exp(-0.4%x)

2 >> k=(1:5)"';

s >> y2=0(x) 4/pi*sum(sin (((2*pi*x)
.*x(2%k-1)))./(2*k-1)) ;% using
arrays expansion

4 >> x=1:0.1:10;

5 >> plot(x,y1(x),'r',x,y2(x),'r")

1>>

2>> ~(a > b)

sans =

4 2%x2 logical array
5 0 1

6 0 1

7>> a > c & b > ¢

sOperands to the || and
must be convertible
scalar values.

9>> ¢ <= d

ioMatrix dimensions must

1>> logical(d)

12ans =

13 2x3 logical array

14 1 1 1

15 0 1 0

6>> a * b > c

&& operators
to logical

agree.

i7ans =

18 2x2 logical array
19 0 1

20 0 1

2a>> a * (b > c)

22ans =

23 0 2

2 0 2

=N

1

>> v0 =
>> x =

16; a=-9.8; x0=10,
x0+ vO*t+0.5*xa*xt”~2

t=5;

Test.m

clc;clear

a =5; b=7; h=(a-b)~2/(a+b)"2;

c=pix*(a+b)*(1+(3 h)/(10+sqrt(4-3 h))
)

>> u 1; v=3; omega=120%pi;

>> a = (4%u)/(3*v), b=(2*xv~(-2))/((u
+v)~2)

>> ¢ = logl0((v+u)/(v-u)), d=4/3 =*pi
*v " 2xexp (-1i*omega*u)

1>>
2ans

3

4>>
5aNns
6
7
8
9
10>>
11ans
12
13
14>>
15ans
16
17 >>
18ANS

19

20 >>
21ans
22
23
24 >>
25ans
26

27

c(2,:)

-0.8000
3.1000
C(:,end)
0.6000
3.1000
0
-0.9000
C(1:2,2:end)

-3.2000 3.4000 0.
1.3000 -0.4000 3.
c(6)

1.3000
C(4:end)

1.1000 -3.
0.6000
-0.4000
0.6000
-0.9000

c(1:2,2:4)

-3.2000 3.4000 0.
1.3000 -0.4000 3.
c(l1 31,2)

-3.2000
0.6000

1.3000 -0.4000

6000
1000

2000 1.
0.1000 3.4000
2.2000 11.1000
3.1000 0

3000

6000
1000




